

State of West Virginia Request for Quotation

Proc Folder: 68408

Doc Description: Addendum #3 Little Daycamp Branch Refuse Project DEP17112

Proc Type: Central Purchase Order

Solicitation Closes Solicitation No Version

 Date Issued
 Solicitation Closes
 Solicitation No
 Version

 2015-03-27
 2015-04-09 13:30:00
 CRFQ
 0313 DEP1500000033
 5

BID CLERK

DEPARTMENT OF ADMINISTRATION

PURCHASING DIVISION 2019 WASHINGTON ST E

CHARLESTON

WV 25305

US

Vendor Name, Address and Telephone Number:

Vendor Name: River Works, Inc.

WV GC#: WV044864

Address: 6105 Chapel Hill Rd. Raleigh, NC 27607

Telephone: (919) 818-6686

2015 APR -9 AM 8: 13

Beth Collins (304) 558-2157 beth.a.collins@wv.gov

Signature X FEIN # 5
All offers subject to all terms and conditions contained in this solicitation

FEIN# 56-2404/37

DATE 4 B CS

Page: 1

FORM ID: WV-PRC-CRFQ-001

ENVIRONMENTAL PROTECTION
OFFICE OF AML&R
601 57TH ST SE
CHARLESTON
WV25304
US
ENVIRONMENTAL PROTECTION
OFFICE OF AML&R
601 57TH ST SE
US
US

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Total Price
1	Mobilization & Demobilization	1.00000	LS	\$22000.00	\$22000.00

Comm Code	Manufacturer	Specification	Model #	
77111603				

Extended Description:

(Lump Sum) (Cannot exceed 10% of Total Bid)

ROBERT LAND WASHINGTON			
ENVIRONMENTAL PROTECTION		ENVIRONMENTAL PROTECTION	
OFFICE OF AML&R		OFFICE OF AML&R	
601 57TH ST SE		601 57TH ST SE	
CHARLESTON	WV25304	CHARLESTON	WV 25304
US		us	

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Total Price
2	Construction Layout	1.00000	LS	\$19500.00	\$19500.00

Comm Code	Manufacturer	Specification	Model #	
77111603				

Extended Description:

(Lump Sum) (Cannot exceed 3% of Total Bid)

			The state of the s
ENVIRONMENTAL PROTECTION OFFICE OF AML&R		ENVIRONMENTAL PROTECTION OFFICE OF AML&R	
601 57TH ST SE		601 57TH ST SE	
CHARLESTON	WV25304	CHARLESTON	WV 25304
us		us	

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Total Price
3	Quality Control	1.00000	LS	\$14400.00	\$14400.00

Comm Code	Manufacturer	Specification	Model #	
77111603		· · · · · ·		

(Lump Sum) (Cannot exceed 2% of Total Bid)

	and the second s		
ENVIRONMENTAL PROTECTION OFFICE OF AML&R		ENVIRONMENTAL PROTECTION OFFICE OF AML&R	
601 57TH ST SE		601 57TH ST SE	
CHARLESTON	WV25304	CHARLESTON	WV 25304
us		US	

Line Comm Ln Desc	Qty	Unit Issue	Unit Price	Total Price
4 Site Preparation	1.00000	LS	\$26200.00	\$26200.00

Comm Code	Manufacturer	Specification	Model #	
77111603				
1				

Extended Description:

(Lump Sum) (Cannot exceed 10% of Total Bid)

			the little of the same of the
ENVIRONMENTAL PROTECTION OFFICE OF AML&R		ENVIRONMENTAL PROTECTION OFFICE OF AML&R	
601 57TH ST SE		601 57TH ST SE	
CHARLESTON	WV25304	CHARLESTON	WV 25304
US		us	

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Total Price
5	Stabilized Construction Entrance	1.00000	EA	\$2500.00	\$2500.00

Comm Code	Manufacturer	Specification	Model #	.
77111603				
1				

Extended Description:

Stabilized Construction Entrance

ENVIRONMENTAL PROTECTION

OFFICE OF AML&R

601 57TH ST SE

ENVIRONMENTAL PROTECTION

OFFICE OF AML&R

601 57TH ST SE

CHARLESTON

WV25304

CHARLESTON

WV 25304

US

US

Line Comm Ln Desc	Qty	Unit Issue	Unit Price	Total Price
6 Silt Fence	1060.00000	LF	\$3.00	\$3180.00

Comm Code	Manufacturer	Specification	Model #	
77111603				
1				

Extended Description:

Silt Fence

ENVIRONMENTAL PROTECTION
OFFICE OF AML&R

ENVIRONMENTAL PROTECTION
OFFICE OF AML&R

601 57TH ST SE CHARLESTON

WV25304

601 57TH ST SE CHARLESTON

WV 25304

US

US

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Total Price
7	Wattles	3020.00000	LF	\$3.50	\$10570.00

Comm Code	Manufacturer	Specification	Model #	
77111603	-			-

Extended Description:

Wattles

			The state of the s
ENVIRONMENTAL PROTECTION OFFICE OF AML&R		ENVIRONMENTAL PROTECTION OFFICE OF AML&R	
601 57TH ST SE		601 57TH ST SE	
CHARLESTON	WV25304	CHARLESTON	WV 25304
US		us	

	Total Price	Unit Price	Unit Issue	Qty	Comm Ln Desc	Line
600.00	\$45600.00	\$2850.00	EA	16.00000	Rock Check with Sump	8
)6	\$456	\$2850.00	EA	16.00000	Rock Check with Sump	8

Comm Code	Manufacturer	Specification	Model #	
77111603			<u> </u>	

Rock Check with Sump

	The same of the sa		The second secon
ENVIRONMENTAL PROTECTI OFFICE OF AML&R	ON	ENVIRONMENTAL PROTE	ECTION
601 57TH ST SE		601 57TH ST SE	
CHARLESTON	WV25304	CHARLESTON	WV 25304
us		us	

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Total Price
9	Temporary Ditch	1145.00000	LF	\$4.50	\$5152.50

Comm Code	Manufacturer	Specification	Model #	
77111603				

Extended Description :

Temporary Ditch

us		us	
CHARLESTON	WV25304	CHARLESTON	WV 25304
601 57TH ST SE		601 57TH ST SE	
OFFICE OF AML&R		OFFICE OF AML&R	
ENVIRONMENTAL PROTECTION	1	ENVIRONMENTAL PROTECTION	ı
2000300	A Comment of the Comm		

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Total Price
10	Temporary 15" Diameter HDPE CPP	80.00000	LF	\$60.00	\$4800.00
1					

Comm Code	Manufacturer	Specification	Model #	
77111603				
L.				

Extended Description :

Temporary 15" Diameter HDPE CPP

ENVIRONMENTAL PROTECTION

OFFICE OF AML&R

601 57TH ST SE

CHARLESTON

WV25304

ENVIRONMENTAL PROTECTION

OFFICE OF AML&R

601 57TH ST SE

CHARLESTON

WV 25304

US

US

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Total Price
11	Dewatering Bag	1.00000	EA	\$550.00	\$550.00

Comm Code	Manufacturer	Specification	Model #	
77111603	· ·		-	

Extended Description:

Dewatering Bag

ENVIRONMENTAL PROTECTION
OFFICE OF AML&R
601 57TH ST SE
CHARLESTON
WV25304
US
ENVIRONMENTAL PROTECTION
OFFICE OF AML&R
601 57TH ST SE
CHARLESTON
WV 25304
US

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Total Price
12	Revegetation	6.60000	ACRE	\$2500.00	\$16500.00

Comm Code	Manufacturer	Specification	Model #	
77111603	-			

Extended Description:

(per plan view acre)

ENVIRONMENTAL PROTECTION		ENVIRONMENTAL PROTECTION	
OFFICE OF AML&R		OFFICE OF AML&R	
601 57TH ST SE		601 57TH ST SE	
CHARLESTON	WV25304	CHARLESTON	WV 25304
บร		US	

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Total Price
13	2H:1V Rip Rap "Vee" Channel	1716.00000	LF	\$43.00	\$73788.00

Comm Code	Manufacturer	Specification	Model#	
77111603				

2H:1V Rip Rap "Vee" Channel

ENVIRONMENTAL PROTECTIO OFFICE OF AML&R	N	ENVIRONMENTAL PROTECTION OFFICE OF AML&R	
601 57TH ST SE		601 57TH ST SE	
CHARLESTON	WV25304	CHARLESTON	WV 25304
US		us	

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Total Price
14	2H:1V RipRap Trapezoidal Channel	347.00000	LF	\$50.00	\$17350.00
l					

Comm Code	Manufacturer	Specification	Model #	
77111603				<u> </u>

Extended Description:

2H:1V RipRap Trapezoidal Channel

0.70003708.7777.777	A STATE OF THE STA		
ENVIRONMENTAL PROTECTION OFFICE OF AML&R	J	ENVIRONMENTAL PROTECTION OFFICE OF AML&R	
601 57TH ST SE		601 57TH ST SE	
CHARLESTON	WV25304	CHARLESTON	WV 25304
us		us	

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Total Price
15	2H:1V Grouted RipRap Trapezoidal Channel	218.00000	LF	\$198.00	\$43164.00

Comm Code	Manufacturer	Specification	Model #	· · ·
77111603	-			

Extended Description :

2H:1V Grouted RipRap Trapezoidal Channel

ENVIRONMENTAL PROTECTION

OFFICE OF AML&R

601 57TH ST SE

ENVIRONMENTAL PROTECTION

OFFICE OF AML&R

601 57TH ST SE

CHARLESTON

WV25304

CHARLESTON

WV 25304

US

US

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Total Price
16	RipRap Trapezoidal Channel Road Crossing	1.00000	EA	\$6850.00	\$6850.00

Comm Code	Manufacturer	Specification	Model #	
77111603	-			<u> </u>

Extended Description:

RipRap Trapezoidal Channel Road Crossing

ENVIRONMENTAL PROTECTION

OFFICE OF AML&R

601 57TH ST SE

US

WV25304

ENVIRONMENTAL PROTECTION

OFFICE OF AML&R

601 57TH ST SE

CHARLESTON

CHARLESTON

US

WV 25304

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Total Price
17	RipRap Armoring	90.00000	TON	\$55.00	\$4950.00

Comm Code	Manufacturer	Specification	Model #	
77111603			-	

Extended Description:

RipRap Armoring

ENVIRONMENTAL PROTECTION

OFFICE OF AML&R

601 57TH ST SE

ENVIRONMENTAL PROTECTION

OFFICE OF AML&R

601 57TH ST SE

CHARLESTON WV25304

CHARLESTON

WV 25304

US US

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Total Price
18	Concrete Weir	1.00000	LS	\$15000.00	\$15000.00

Comm Cade	Manufacturer	Specification	Model #	_
77111603		•		

Concrete Weir

ENVIRONMENTAL PROTECTION
OFFICE OF AML&R
601 57TH ST SE
CHARLESTON
WV25304
US
ENVIRONMENTAL PROTECTION
OFFICE OF AML&R
601 57TH ST SE
CHARLESTON
WV 25304
US

LineComm Ln DescQtyUnit IssueUnit PriceTotal Price19Unclassified Excavation51560.00000CY\$3.45\$177882.00

Comm Code	Manufacturer	Specification	Model #	
77111603	-	-		

Extended Description:

Unclassified Excavation

			San
ENVIRONMENTAL PROTECTION OFFICE OF AML&R		ENVIRONMENTAL PROTECTION OFFICE OF AML&R	
601 57TH ST SE		601 57TH ST SE	
CHARLESTON	WV25304	CHARLESTON	WV 25304
US		us	

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Total Price
20	12" Soil Cover	1.20000	ACRE	\$54500.00	\$65400.00
ĺ					

Comm Code	Manufacturer	Specification	Model #	-
77111603	 :			

Extended Description:

(per plan view acre)

ENVIRONMENTAL PROTECTION
OFFICE OF AML&R
601 57TH ST SE
CHARLESTON
WV25304
US
ENVIRONMENTAL PROTECTION
OFFICE OF AML&R
601 57TH ST SE
CHARLESTON
WV 25304
US

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Total Price
21	3" Soil Cover	3.90000	ACRE	\$26500.00	\$103350.00

Comm Code	Manufacturer	Specification	Model #	
77111603				

Extended Description :

(per plan view acre)

	and the second second		
ENVIRONMENTAL PROTECTOR	TION	ENVIRONMENTAL PROTE	ECTION
601 57TH ST SE		601 57TH ST SE	
CHARLESTON	WV25304	CHARLESTON	WV 25304
US		US	

Line Comm Ln Desc Qty	Unit Issue Unit Pri	
22 Underdrain 200.000	0 LF \$55.00	\$11000.00

Comm Code	Manufacturer	Specification	Model #	
77111603				-

Extended Description:

Underdrain

ENVIRONMENTAL PROTECTION OFFICE OF AML&R	ON 1	ENVIRONMENTAL PROTECTION OFFICE OF AML&R	
601 57TH ST SE		601 57TH ST SE	
CHARLESTON	WV25304	CHARLESTON	WV 25304
us		us	

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Total Price
23	12" Diameter SDR 35 Solid PVC Conveyance Pipe	50.00000	LF	\$30.00	\$1500.00

Comm Code	Manufacturer	Specification	Wiodel #	
77111603				
1				

12" Diameter SDR 35 Solid PVC Conveyance Pipe

	and the same of th		
ENVIRONMENTAL PROTECT OFFICE OF AML&R	TION	ENVIRONMENTAL PROTE	CTION
601 57TH ST SE		601 57TH ST SE	
CHARLESTON	WV25304	CHARLESTON	WV 25304
US		US	

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Total Price
24	Class 2 Crushed Stone Aggregate	250.00000	TON	\$48.00	\$12000.00
1					

Comm Code	Manufacturer	Specification	Model #	
11111600		· · · · · · · · · · · · · · · · · · ·		

Extended Description:

Reference line 4.2 of the Contractor's bid sheet. Class 2 Crushed Stone Aggregate

ENVIRONMENTAL PROTECT	TION	ENVIRONMENTAL PROTECTION OFFICE OF AML&R	CTION
601 57TH ST SE		601 57TH ST SE	
CHARLESTON	WV25304	CHARLESTON	WV 25304
US		us	

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Total Price
25	No. 1 Crushed Stone Aggregate	400.00000	TON	\$50.00	\$20000.00

Comm Code	Manufacturer	Specification	Model #	· <u> </u>
11111600				

Extended Description:

Reference line 4.1 of the Contractor's bid sheet. No. 1 Crushed Stone Aggregate

	Document Phase	Document Description	Page
DEP1500000033	Final	Addendum #3 Little Daycamp Bra nch	12 of
		Refuse Project DEP17112	12

ADDITIONAL TERMS AND CONDITIONS

See attached document(s) for additional Terms and Conditions

ADDENDUM ACKNOWLEDGEMENT FORM SOLICITATION NO.:

Instructions: Please acknowledge receipt of all addenda issued with this solicitation by completing this addendum acknowledgment form. Check the box next to each addendum received and sign below. Failure to acknowledge addenda may result in bid disqualification.

Acknowledgment: I hereby acknowledge receipt of the following addenda and have made the necessary revisions to my proposal, plans and/or specification, etc.

Addendum Numbers Received:

(Check the box next to each addendum received)

[1]	Addendum No. 13/24/15	[]	Addendum No. 6
[[/]	Addendum No. 2 726 15	[]	Addendum No. 7
[/]	Addendum No. 3 3/21/15	[3	Addendum No. 8
[]	Addendum No. 4	[]	Addendum No. 9
[]	Addendum No. 5	[]	Addendum No. 10

I understand that failure to confirm the receipt of addenda may be cause for rejection of this bid. I further understand that any verbal representation made or assumed to be made during any oral discussion held between Vendor's representatives and any state personnel is not binding. Only the information issued in writing and added to the specifications by an official addendum is binding.

Company

Authorized Signature

4/8/8

Date

NOTE: This addendum acknowledgement should be submitted with the bid to expedite document processing.

Revised 6/8/2012

RIVER WORKS, INCORPORATED

JOINT WRITTEN CONSENT OF THE SHAREHOLDERS AND BOARD OF DIRECTORS TO ACTION WITHOUT MEETING

The undersigned, being all of the shareholders and the members of the Board of Directors (the "Board") of River Works, Incorporated, a North Carolina corporation (the "Corporation"), do hereby take the following actions and adopt the following preambles and resolutions by signing their written consent hereto at an annual meeting of the shareholders and the Board, pursuant to the North Carolina Business Corporation Act and the Bylaws of the Corporation.

I. Election of Directors.

WHEREAS, the Board's current member is:

Fred J. Smith, III

WHEREAS, the Shareholder does hereby elect the following person to the Board to serve until the next annual meeting of the Corporation or until his successor(s) is/are duly elected and qualified, or until their earlier death, resignation or removal:

Fred J. Smith, III

NOW, THEREFORE, BE IT RESOLVED by the shareholder, that the following individual is hereby ratified and confirmed, to serve until the next annual meeting of the Corporation or until his successor(s) is/are duly elected and qualified, or until his earlier death, resignation or removal:

Fred J. Smith, III

2. Election of Officers.

WHEREAS, pursuant to the resolutions above, the shareholders have ratified and confirmed the directors to the Board, and the Board now desires to name or ratify the Corporation's officers.

NOW, THEREFORE, BE IT RESOLVED, that the Board does hereby elect the following persons to their respective offices, to hold such office(s) until their successors are duly elected and qualified, or until their earlier death, resignation or removal:

Name Office
Fred J. Smith, III President

William Wright Executive Vice President

Brent E. Wood Secretary

Thomas T. Johnson, Jr. Assistant Secretary

Fred J. Smith, Jr.

Treasurer

3. Ratification; Further Acts.

FURTHER RESOLVED by the Board and the shareholder, that the officers of the Corporation are each hereby authorized and directed on behalf of the Corporation to execute and deliver any and all other agreements, instruments, documents, papers and certificates and take any and all such other actions and do any and all such other things as they may deem necessary or desirable in order to carry out the full intent and purposes of the foregoing resolutions; and

FURTHER RESOLVED by the Board and the shareholder, that all lawful things done and all actions taken by the officers of the Corporation, or any of them, in connection with any matters necessary or desirable in order to carry out the full intent and purpose of the foregoing resolutions are hereby ratified, confirmed and approved in all respects.

We hereby consent that the actions set forth in the foregoing preambles and resolutions shall have the same force and effect as if taken at a duly constituted meeting of the shareholders and the Board of Directors of the Corporation, effective as of the date hereof, and direct that this document be filed with the minutes of the Corporation. This consent may be executed in multiple counterparts, each of which when taken together shall constitute the same instrument.

This document is dated as of September 3, 2012.

SHAREHOLDER:

BOARD OF DIRECTORS:

FSC II, LLC

Fred J. Smith, III

Manager

Canal CA:hh III

LITTLE DAYCAMP BRANCH Contractor's Bid Sheet

Company Name: River Works, Inc.	
---------------------------------	--

Address: 6105 Chapel Hill rd. Raleigh NC, 27607

WV GC#: WV044864

NOTE: The DEP reserves the right to request additional information and supporting documentation regarding unit prices when the unit price appears to be unreasonable.

ITEM NO.	I QUANTITY		DESCRIPTION	UNIT PRICE (\$)	AMOUNT (\$)
1.0	1	LS	Mobilization and Demobilization (Limited to 10% of Total Bid)	\$22000.00	\$22000.00
2.0	1	LS	Construction Layout Stakes (Limited to 3% of Total Bid)	\$19500.00	\$19500.00
3.0	1	LS	Quality Control (Limited to 2% of Total Bid)	\$14400.00	\$14400.00
4.1	1	LS	Site Preparation (Limited to 10% of Total Bid)	\$26200.00	\$26200.00
4.2	250	TN	Class 2 Crushed Stone Aggregate	\$48.00	\$12000.00
4.3	400	TN	No. 1 Crushed Stone Aggregate	\$50.00	\$20000.00
5.1	1	EA	Stabilized Construction Entrance	\$2500.00	\$2500.00
5.2	1060	LF	Silt Fence	\$3.00	\$3180.00
5.3	3020	LF	Wattles	\$3.50	\$10570.00
5.4	16	EA	Rock Check with Sump	\$2850.00	\$45600.00
5.5	1145	LF	Temporary Ditch	\$4.50	\$5152.50
5.6	80	LF	Temporary 15" Diameter HDPE CPP	\$60.00	\$4800.00
5.7	1	EA	Dewatering Bag	\$550.00	\$550.00
6.0	6.6	AC	Revegetation (per plan view acre)	\$2500.00	\$16500.00
7.1	1716	LF	2H:1V Rip Rap "Vee" Channel	\$43.00	\$73788.00
7.2	347	LF	2H:1V Rip Rap Trapezoidal Channel	\$50.00	\$17350.00
7.3	218	LF	2H:1V Grouted Rip Rap Trapezoidal Channel	\$198.00	\$43164.00
7.4	1	EA	Rip Rap Trapezoidal Channel Road Crossing	\$6850.00	\$6850.00
7.5	90	TN	Rip Rap Armoring	\$55.00	\$4950.00
7.6	11	LS	Concrete Weir	\$15000.00	\$15000.00
8.1	51560	CY	Unclassified Excavation	\$3.45	\$177882.00
8.2	1.2	AC	12 inch Soil Cover (per plan view acre)	\$54500.00	\$65400.00
8.3	3.9	AC	3 inch Soil Cover (per plan view acre)	\$26500.00	\$103350.00
10.1	200	LF	Under-drain	\$55.00	\$11000.00
10.2	50	LF	12" Diameter SDR 35 Solid PVC Conveyance Pipe	\$30.00	\$1500.00
			TOTAL		\$723,186.50

AML CONTRACTOR INFORMATION FORM

You must complete this form for your AML contracting officer to request an eligibility evaluation from the Office of Surface Mining to determine if you are eligible to receive an AML contract. This requirement applies to contractors and their sub-contractors and is found under OSM's regulations at 30 CFR 874.16. When possible, please type your information onto this form to reduce errors on our end. NOTE: Signature and date this form is signed must be recent (within the last month) to be considered for a current bid

Part A: General Information
Business Name: Liver Works, Ive. Tax Payer ID No.: 56-2404137 Address: 6105 Chapel Hiu Rd- City: Ralegu State: NC Zip Code: 27607 Phone: 619 818-6889 Fax No.: 619 582-3575 E-mail address: burique riverwork. Con
Part B: Legal Structure
() Corporation () Sole Proprietorship () Partnership () LLC () Other (please specify)
Part C: Certifying and updating information in the Applicant/Violator System (AVS). Select only one of the following options, follow the instructions for that option, and sign below.
I, Bill Writty, have the express authority to certify that: (print name)
1Information on the attached Entity Organizational Family Tree (OFT) from AVS is accurate, complete, and up-to-date. If you select this option, you must attach an Entity OFT from AVS to this form. Sign and date below and do not complete Part D.
2. Part of the information on the attached Entity OFT from AVS is missing or incorrect and must be updated. If you select this option, you must attach an Entity OFT from AVS to this form. Use Part D to provide the missing or corrected information. Sign and date below and complete Part D.
3. Our business currently is not listed in AVS. If you select this option, you must provide all information required in Part D. Sign and date below and complete Part D.
Date Signature Title
Date Signature Title IMPORTANT: In order to certify in Part C.to-the accuracy of existing information in AVS, you
must obtain a copy of your business' Entity OFT. To obtain an Entity OFT, contact the AVS
Office tall free at 900 643 0749 on from the AVS weekelds at https://www.com

Part D.

Contractor's Business Name:	: River Worlds, Inc.	
-----------------------------	----------------------	--

If the current Entity OFT information for your business is incomplete or incorrect in AVS, or if there is no information in AVS for your business, you must provide all of the following information as it applies to your business. Please make as many copies of this page as you require.

- Every officer (President, Vice President, Secretary, Treasurer, etc.);
- All Directors;
- All persons performing a function similar to a Director;
- Every person or business that owns 10% or more of the voting stock in your business;
- Every partner, if your business is a partnership;
- · Every member and manager, if your business is a limited liability company; and
- Any other person(s) who has the ability to determine the manner in which the AML reclamation project is being conducted.

Name Address	Position/Title Telephone #	
Begin Date:	% of Ownership Ending Date:	
Name	Position/Title	
Address	Telephone #	
Begin Date:	% of Ownership Ending Date:	
Name	Position/Title	
Address	Telephone # % of Ownership	
Begin Date:	Ending Date:	
Name	Position/Title	
Address	Telephone # % of Ownership	
Begin Date:	Ending Date:	

PAPERWORK REDUCTION STATEMENT

The Paperwork Reduction Act of 1995 (44 U.S.C. 3501) requires us to inform you that: Federal Agencies may not conduct or sponsor, and a person is not required to respond to, a collection of information unless it displays a currently valid OMB control number. This information is necessary for all successful bidders prior to the distribution of AML funds, and is required to obtain a benefit.

Public reporting burden for this form is estimated to range from 15 minutes to 1 hour, with an average of 22 minutes per response, including time for reviewing instructions, gathering and maintaining data, and completing and reviewing the form. You may direct comments regarding the burden estimate or any other aspect of this form to the Information Collection Clearance Officer, Office of Surface Mining Reclamation and Enforcement, Room 202 SIB, Constitution Ave., NW, Washington, D.C. 20240.



State of West Virginia DRUG FREE WORKPLACE CONFORMANCE AFFIDAVIT West Virginia Code §21-1D-5

STATE OF WEST VIRGINIA,					
COUNTY OF Mcdowell TO	D-WIT:				
I, Bill Wright, after	r being first duly sworn, depose and state as follows:				
1. I am an employee of <u>Rive</u>	(Company Name); and,				
2. I do hereby attest that	(Company Name)				
maintains a valid written drug policy is in compliance with W	free workplace policy and that such lest Virginia Code §21-1D.				
The above statements are sworn to under the penalty of perjury.					
By: Title					
	pany Name: River Works lue				
Date	4/8/15				
Taken, subscribed and sworn to before me this 3 day of April , 2015					
By Commission expires 6-3- (Sea) NOTARY OF COMMISSION EXPIRES C-3-15	Cassanda 2 Dixon				
AUBLIC SO	(Notary Public)				
THIS AFFIDAVIT MUST BE SUBMI	TTED WITH THE BID IN ORDER TO COMPLY				

WITH WY CODE PROVISIONS. FAILURE TO INCLUDE THE AFFIDAVIT WITH THE

BID SHALL RESULT IN DISQUALIFICATION OF THE BID.

BID BOND

KNOW ALL MEN BY THESE PRESENTS, That we, the undersi-		we, the undersigned,	River Wor	ks, Inc. db	a River Works	Restoration, Inc.	
of Rale		North C				stern Surety C	
of <u>Chica</u>	igo	Illinois	, a corporation	organized and	existing und	er the laws of the	State of
South Dakota with					, are held ar	nd firmly bound u	nto the State
f West Virginia, as Ob	igee, in the per	al sum of <u>five pe</u>	rcent of total bid	(\$5	<u>%</u>) for the paym	ent of which,
The Condition epartment of Administ Little Day Cam	of the above	obligation is such	that whereas the Pr	incipal has su ade a part here	ıbmitted to t	the Purchasing So	ection of the
	bid shall be re I bid shall be a all furnish any c by the acceptan s expressly un	iccepted and the lither bonds and inside the constant in the c	this obligation shalled that the liability of	ne bid or propo be null and vo	isal, and sha id, otherwise	all in all other resp this obligation sh	ects perform all remain in
y impaired or affecte ve notice of any such WITNESS, the	d by any exter extension. following signa	sion of the time wi	tes and agrees that ithin which the Oblig Principal and Surety,	ee may accept	ot such bid,	and sald Surety of	ioes hereby
rety, or by Principal in	dividually if Pri	cipal is an individu	al, this_ 9thday of	Aprii		20 15	
SEAL 2003	A.C.		F	By (Mu	st be Preside Duly Auth	River Works R. of Principal) ent, Vice Bresiden horized Agent) Title)	
uraty Seal				West	ern Surety	Company	
•				*220222244444444	(Name	of Surety)	
					11		
			/		atel	~~~~~~	t - a a gar galan katalan da da da
			†	Hophas J. Ge	entile Attorn	ney-in-Fact	
ORTANT - Surety east attach a power of	kecuting bond attorney with	s must be license ts seal affixed.	d in West Virginia (to transact.s.	nety Insura:	nce, must affix it	seal, and

Western Surety Company

POWER OF ATTORNEY APPOINTING INDIVIDUAL ATTORNEY-IN-FACT

Know All Men By These Presents, That WESTERN SURETY COMPANY, a South Dakota corporation, is a duly organized and existing corporation having its principal office in the City of Sioux Falls, and State of South Dakota, and that it does by virtue of the signature and seal herein affixed hereby make, constitute and appoint

Thomas J Gentile, Billie Jo Sanders, Renee Ellis, Paul B Scott Jr, David J Durden, Milton A Kopf III, Individually

of Montgomery, AL, its true and lawful Attorney(s)-in-Fact with full power and authority hereby conferred to sign, seal and execute for and on its behalf bonds, undertakings and other obligatory instruments of similar nature

- In Unlimited Amounts -

and to bind it thereby as fully and to the same extent as if such instruments were signed by a duly authorized officer of the corporation and all the acts of said Attorney, pursuant to the authority hereby given, are hereby ratified and confirmed.

This Power of Attorney is made and executed pursuant to and by authority of the By-Law printed on the reverse hereof, duly adopted, as indicated, by the shareholders of the corporation.

In Witness Whereof, WESTERN SURETY COMPANY has caused these presents to be signed by its Vice President and its corporate seal to be hereto affixed on this 14th day of November, 2014.

WESTERN SURETY COMPANY

Paul T. Bruflat, Vice President

State of South Dakota County of Minnehaha 85

On this 14th day of November, 2014, before me personally came Paul T. Bruflat, to me known, who, being by me duly sworn, did depose and say: that he resides in the City of Sioux Falls, State of South Dakota; that he is the Vice President of WESTERN SURETY COMPANY described in and which executed the above instrument; that he knows the seal of said corporation; that the seal affixed to the said instrument is such corporate seal; that it was so affixed pursuant to authority given by the Board of Directors of said corporation and that he signed his name thereto pursuant to like authority, and acknowledges same to be the act and deed of said corporation.

My commission expires

June 23, 2015

J. MOHR

NOTARY PUBLIC SALES
SOUTH DAKOTA SALES

. Mohr. Notary Public

CERTIFICATE

I, L. Nelson, Assistant Secretary of WESTERN SURETY COMPANY do hereby certify that the Power of Attorney hereinabove set forth is still in force, and further certify that the By-Law of the corporation printed on the reverse hereof is still in force. In testimony whereof I have hereunto subscribed my name and affixed the seal of the said corporation this 9th day of April, 2015



WESTERN SURETY COMPANY

Ylohr

J. Nelson, Assistant Secretary

Authorizing By-Law

ADOPTED BY THE SHAREHOLDERS OF WESTERN SURETY COMPANY

This Power of Attorney is made and executed pursuant to and by authority of the following By-Law duly adopted by the shareholders of the Company.

Section 7. All bonds, policies, undertakings, Powers of Attorney, or other obligations of the corporation shall be executed in the corporate name of the Company by the President, Secretary, and Assistant Secretary, Treasurer, or any Vice President, or by such other officers as the Board of Directors may authorize. The President, any Vice President, Secretary, any Assistant Secretary, or the Treasurer may appoint Attorneys in Fact or agents who shall have authority to issue bonds, policies, or undertakings in the name of the Company. The corporate seal is not necessary for the validity of any bonds, policies, undertakings, Powers of Attorney or other obligations of the corporation. The signature of any such officer and the corporate seal may be printed by facsimile.

RFQ	No.	

STATE OF WEST VIRGINIA Purchasing Division

PURCHASING AFFIDAVIT

MANDATE: Under W. Va. Code §5A-3-10a, no contract or renewal of any contract may be awarded by the state or any of its political subdivisions to any vendor or prospective vendor when the vendor or prospective vendor or a related party to the vendor or prospective vendor is a debtor and: (1) the debt owed is an amount greater than one thousand dollars in the aggregate; or (2) the debtor is in employer default.

EXCEPTION: The prohibition listed above does not apply where a vendor has contested any tax administered pursuant to chapter eleven of the W. Va. Code, workers' compensation premium, permit fee or environmental fee or assessment and the matter has not become final or where the vendor has entered into a payment plan or agreement and the vendor is not in default of any of the provisions of such plan or agreement.

DEFINITIONS:

"Debt" means any assessment, premium, penalty, fine, tax or other amount of money owed to the state or any of its political subdivisions because of a judgment, fine, permit violation, license assessment, defaulted workers' compensation premium, penalty or other assessment presently delinquent or due and required to be paid to the state or any of its political subdivisions, including any interest or additional penalties accrued thereon.

"Employer default" means having an outstanding balance or liability to the old fund or to the uninsured employers' fund or being in policy default, as defined in W. Va. Code § 23-2c-2, failure to maintain mandatory workers' compensation coverage, or failure to fully meet its obligations as a workers' compensation self-insured employer. An employer is not in employer default if it has entered into a repayment agreement with the Insurance Commissioner and remains in compliance with the obligations under the repayment agreement.

"Related party" means a party, whether an individual, corporation, partnership, association, limited liability company or any other form or business association or other entity whatsoever, related to any vendor by blood, marriage, ownership or contract through which the party has a relationship of ownership or other interest with the vendor so that the party will actually or by effect receive or control a portion of the benefit, profit or other consideration from performance of a vendor contract with the party receiving an amount that meets or exceed five percent of the total contract amount.

AFFIRMATION: By signing this form, the vendor's authorized signer affirms and acknowledges under penalty of law for false swearing (*W. Va. Code* §61-5-3) that neither vendor nor any related party owe a debt as defined above and that neither vendor nor any related party are in employer default as defined above, unless the debt or employer default is permitted under the exception above.

WITNESS THE FOLLOWING SIGNATURE:

Vendor's Name: River Wake, Inc	
Authorized Signature: Date: 4/8/15	
State of NC	
County of Wales, to-wit:	
Taken, subscribed, and sworn to before me this 8 day of 100 lb., 2015	
My Commission expires <u>9-3</u> , 20 <u>15</u> .	
AFFIX SEAL HERE MINIMULA DIE NOTARY PUBLIC COSON du DIE L	
Purchasing Affidavit (Revised 07/01/2012)	